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A concave mirror produces image of an object. If now both the mirror and the object
are immersed in water, will the position of the image change?

If both the mirror and the object are immersed in water, the position of the image will
not change.

Reason - Laws of reflection and focal length of the mirror remain unchanged with the
change of medium.

Show that the ratio of the wavelengths of incident and refracted light in a medium is
equal to the refractive index.

When there is a change in medium, velocity and wavelength of light changed, but
frequency remains unchanged.

Let the refractive index of second medium with respect to first medium be [L.

velocity of light in first medium (V; ni A
Then, U= Yo 78 V) _nh A [n = frequency]

velocity of light in second medium (V) T n Ay Ay

_ wavelength of incident light

B wavelength of refracted light

A ray of light is incident on a rectangular glass slab what is the angle of deviation
between the incident ray and emergent ray?

The angle of deviation between the incident ray and emergent ray is 0°.

Reason — The incident ray and emergent ray are parallel to each other.

When an object is placed 20 cm away from a convex lens, image is not observed on
either sides of the lens. What is the focal length of the lens?

The focal length of the convex lens is 20 cm.

Reason — When an object is situated at the focus of a convex lens, the image is formed
at infinity. And the image is not observed on either sides of the lens.



